Terraced House in Zabbar



Zabbar, South



€700,000

Total Rooms: 8

Bathrooms: 2

Reference No: 240061007-5665

Floor Area (m²) : **200**

Bedrooms: 3

Terraced House - For Sale - Zabbar

Looking for space and practicality? Located on the outskirts of this village is this very well kept terraced bungalow built on a plot measuring over 200sqm. Presently all 8 rooms are situated at ground floor level and property enjoys a large 45sqm yard and an interconnecting 2 car garage. One could easily convert property into a large 3 bedroom house with garden and pool. Contact agents for further information and an immediate viewing.

Features

Court Yard

Air Space

✓ Well

Rooms

Single Bedroom : 3.9 x 4.7 m (18.33 m2)

✓ Sitting: 4.5 x 5.5 m (24.75 m2)

✓ Single Bedroom : 3.8 x 3 m (11.4 m2)

Single Bedroom : 7 x 4.3 m (30.1 m2)

Kitchen: 3.5 x 4.6 m (16.1 m2)

✓ Dining: 3.6 x 3.5 m (12.6 m2)

Bathroom: 0 x 0 m (0 m2)

Bathroom: 0 x 0 m (0 m2)

Gallery

















RE/MAX Superior - Fgura RE/MAX Superior - Fgura

M: 23910000

E: fgr@remax.com.mt

T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta